JL_

Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) The difference between nine and N is seven
1
2) The product of six and Pis fifty-four
2.
3) Edivided by ten equalsten
3.
4) Thesum of nine and C is seventeen
4,
5) The difference between four and W istwo
5.
6) D timessix equals fifty-four i
7) one hundred divided by Z equalsten ,
8) Thesum of oneand T isthree .
9) nineminus A equalsthree .
10) K timesthree equalstwelve 0
11) B divided by ten equals ten u
12) H plusfour equals seven .
13) eight minusY equalsfive 0
14) G timesfour equals twenty-eight y
15) one hundred divided by F equalsten s
16) two plus B equals eight 6
17) six minus A equalsthree .
18) eight times J equals sixty-four "
19) one hundred divided by U equalsten "
20) Thesum of R and threeis thirteen 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numer als and symbols. Answers
1) The difference between nine and N is seven
1 9-N=7
2) Theproduct of six and P isfifty-four N 6x P =54
3) Edivided by ten equalsten N Ex10=10
4) The sum of nine and C is seventeen . 9+C =17
5) Thedifference between four and W istwo . A-W =2
6) D timessix equals fifty-four . D x 6= 54
7) one hundred divided by Z equalsten , 100 x Z = 10
8) Thesum of oneand T isthree . 1+T =3
9) nineminus A equalsthree N 9-A =3
10) K timesthree equalstwelve 0 K x3=12
11) B divided by ten equals ten " B x 10 = 10
12) H plusfour equals seven " H+4=7
13) eight minusY equalsfive 5 8-Y =5
14) G timesfour equals twenty-eight " G x4=28
15) one hundred divided by F equalsten s 100 x F = 10
16) two plus B equals eight 6 2+4B=8
17) six minus A equalsthree - 6-A=3
18) eight times J equals sixty-four " 8xJ=64
19) one hundred divided by U equalsten . 100x U =10
20) Thesum of R and threeis thirteen 0 R+3=13
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) M minustwo equals nine
1
2) The product of nineand A is seventy-two
2.
3) one hundred divided by Jequalsten
3.
4) C plusfour equalsten
4,
5) H minus nine equals eight
5.
6) W timessix equals thirty
6.
7) U divided by ten equalsten
7.
8) The sum of two and F is twelve .
9) Y minusone equalsten .
10) B timesfour equals four
10.
11) R divided by ten equals ten u
12) The sum of six and D isfifteen b
13) The difference between eight and Z is one -
14) The product of two and N istwelve y
15) T divided by ten equalsten 5
16) The sum of one and E is three 6
17) eight minus A equalsfive .
18) B timesfive equalsforty 18
19) one hundred divided by K equalsten "
20) G plussix equasnine 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) M minustwo equals nine
1 M-2=9
2) The product of nine and A is seventy-two
2. O9xA=72
3) one hundred divided by Jequalsten
3. 100 x J =10
4) C plusfour equalsten
4. C+4=10
5) H minus nine equals eight
sHesed s H-9=8
6) W timessix equalsthirt
= 4 s,  Wx6=30
7) U divided by ten equalsten
YN . Ux10=10
8) The sum of two and Fistwelve
8. 2+F=12
9) Y minusone equals ten
= o Y-1=10
10) B times four equals four
) = 10. Bx4=4
11) Rdivided by ten equalsten
) y ten eq 1un Rx10=10
12) The sum of six and D isfifteen
) 12. 6+D=15
13) The difference between eight and Z is one .
13 8-Z=1
14) The product of two and N istwelve
) p 14. 2xN=12
15) T divided by ten equalsten
) y . 15. Tx10=10
16) Th f dEisth
) e sum of one and E isthree . 1+E=3
17) eight minus A equalsfive
) eight minus A equals fiv - 8-A=5
18) B timesfive equalsforty N B x5=40
19 .
) one hundred divided by K equalsten . 100 x K =10
20 ] i
) G plussix equals nine 0 G+6=9
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) Thedifference between eight and T is one
1.
2) Jtimessix equals six
2,
3) one hundred divided by C equals ten
3.
4) A plusten equals eighteen
4,
5) H minus three equal's seven
5.
6) fivetimesF equalsforty
6.
7) A divided by ten equalsten
7.
8) five plusE equals eleven
8.
9) Thedifference between fifteen and R isnine
9.
10) tentimes U equals sixty
10.
11) K divided by ten equalsten
11.
12) B plusthree equals six
12.
13) fourteen minus D equalsfive
13.
14) The product of G and four is four
14.
15) B divided by ten equals ten
15.
16) M plusthree equalsfour
16.
17) The difference between eight and W istwo
17.
18) eight times N equals forty
18.
19) Z divided by ten equalsten
19.
20) Pdivided by ten equals ten
20.
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ﬂh Rewriting Equations

Name. Answer Key
Rewrite each number sentence using numer als and symbols. Answers
1) Thedifference between eight and T isone . 8.-T=1
2) Jtimessix equalssix N IJx6=6
3) one hundred divided by C equals ten . 100 x C = 10
4) A plusten equals eighteen . A+10=18
5) H minus three equal's seven . H-3=7
6) fivetimesF equalsforty 6 5x F =40
7) A divided by ten equalsten , A x 10 =10
8) five plusE equals eleven N 5+E=11
9) The difference between fifteen and R is nine o 15-R=9
10) tentimes U equals sixty » 10 x U = 60
11) K divided by ten equalsten " K x 10 = 10
12) B plusthree equalssix " B+3=6
13) fourteen minus D equalsfive 5 14-D=5
14) The product of G and four isfour " Gx4=4
15) B divided by ten equals ten - Bx10=10
16) M plus three equals four . M+3=4
17) The difference between eight and W istwo . 8-W =2
18) eight times N equals forty 18, 8x N =40
19) Z divided by ten equalsten 10, Z x10=10
20) Pdivided by ten equals ten 20, Px10=10
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) The difference between fourteen and R is six
1
2) twotimes U equalstwelve
2.
3) one hundred divided by P equalsten
3.
4) W plusten equals thirteen
4,
5) fourteen minus Z equals seven
5.
6) ninetimes E equals twenty-seven
6.
7) one hundred divided by B equals ten
7.
8) Thesum of D and ten is nineteen .
9) thirteen minus G equals three .
10) four times C equals sixteen 0
11) Y divided by ten equalsten u
12) H pluseight equals fourteen 0
13) F minussix equals seven 1
14) seven times B equals twenty-eight y
15) onehundred divided by N equalsten s
16) ten plusK equalstwelve 6
17) seventeen minus Jequals nine .
18) T times nine equals forty-five "
19) one hundred divided by M equals ten "
20) one hundred divided by A equals ten 2
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) The difference between fourteen and R is six
1 14-R=6
2) twotimes U equalstwelve
2 2xU=12
3) one hundred divided by P equalsten
3 100 x P =10
4) W plusten equals thirteen
4 W +10=13
5) fourteen minus Z equals seven
5. 14-2=7
6) ninetimes E equals twenty-seven
= d s 9XE=27
7) one hundred divided by B equals ten
Y= ., 100xB=10
8) Thesum of D and ten is nineteen
8 D+10=19
9) thirteen minus G equals three
= o 13-G=3
10) four times C equals sixteen
* 10. 4xC=16
11) Y divided by ten equasten
yiene w Y x10=10
12) H pluseight equals fourteen
) Hpluseighten 2 H+8=14
13) F minussix equals seven
) & 13. F-6=7
14) seventimes B equals twenty-eight
) ™ y-ad 14. 7xB =28
15) one hundred divided by N equals ten
) YN 15. 100 x N =10
16) ten plusK equalstwelve
) p €q 16. 10 + K = 12
17) seventeen minus Jequals nine
) eq v 17-3=9
18) T times nine equals forty-five
) [ ine equ y-fiv 8 T x9=145
19) one hundred divided by M equals ten . 100xM =10
20 .
) one hundred divided by A equals ten o 100 % A =10
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) T minus nine equals three
1
2) The product of two and R is six
2.
3) one hundred divided by C equals ten
3.
4) Thesum of nineand W is fifteen
4,
5) The difference between eight and G isthree
5.
6) The product of K and three is twenty-one
6.
7) Hdivided by ten equalsten
7.
8) Thesumof Y and four isten .
9) seven minus A equals one .
10) eight times E equals sixty-four 0
11) onehundred divided by Z equalsten "
12) Thesum of A and nineis thirteen b
13) Jminus one equals three "
14) The product of two and P is sixteen y
15) D divided by ten equalsten "
16) Thesum of eight and M is seventeen "
17) The difference between fifteen and B isfive .
18) fivetimesB equds forty-five "
19) U divided by ten equalsten 1
20) Thesum of two and F is seven 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) T minus nine equals three
1 T-9=3
2) The product of two and R is six
2 2XR=6
3) one hundred divided by C equals ten
3 100 x C =10
4) The sum of nineand W isfifteen
4. 9+W =15
5) The difference between eight and G isthree
5. 8-G=3
6) The product of K and three is twenty-one
P 4 6. Kx3=21
7) Hdivided by ten equalsten
7 Hx10=10
8) Thesumof Y and four isten
8. Y +4=10
9) seven minus A equals one
eq 5 7-A=1
10) eight times E equals sixty-four
g eq y 10. S8xXxE=64
11) one hundred divided by Z equals ten
y Z eq 1. 100xZ =10
12) Thesum of A and nineisthirteen
12. A+9=13
13) Jminus one equals three
) eq 13 J-1=3
14) The product of two and P is sixteen
) p 14. 2xP= 16
15) D divided by ten equasten
) Y ten eq 5. Dx10=10
16) Thesum of eight and M is seventeen
) g 16. 8 +M =17
17) The difference between fifteen and B isfive
) 17. 15-B=5
18) fivetimesB equalsforty-five
) fiveti equ y-fiv " 5x B =45
19) U divided by ten equasten
) Y ten eq 0. Ux10=10
20 [
) The sum of two and F is seven . o+ E=7
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) A minusthree equals six
1
2) The product of F and nineisforty-five
2.
3) N divided by ten equalsten
3.
4) The sum of two and W isnine
4,
5) B minusten equals seven
5.
6) K times nine equals thirty-six i
7) Cdivided by ten equals ten ,
8) B plus nine equals fifteen .
9) The difference between three and U is one .
10) The product of A and nineisforty-five 0
11) Y divided by ten equalsten u
12) The sum of ten and Pis fifteen b
13) eighteen minus T equalsten 0
14) M times four equals twenty y
15) one hundred divided by Z equalsten s
16) E plusfour equalsten 6
17) eight minus Jequalsfive .
18) D timesten equals one hundred "
19) R divided by ten equals ten 1
20) The product of H and two is four 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numer als and symbols. Answers
1) A minusthree equals six
L A-3=6
2) Theproduct of F and nineisforty-five N E x 9=45
3) N divided by ten equalsten . N x 10 = 10
4) The sum of two and W isnine . 2+W =9
5) B minusten equals seven . B-10=7
6) K times nine equals thirty-six . K x9=136
7) Cdivided by ten equals ten , Cx10=10
8) B plus nine equals fifteen . B+9=15
9) The difference between three and U isone o 3.U=1
10) The product of A and nineisforty-five 0 A x 9= 45
11) Y divided by ten equalsten " Y x10=10
12) The sum of ten and Pis fifteen o 10+ P =15
13) eighteen minus T equalsten 5 18-T =10
14) M times four equals twenty " M x 4 =20
15) one hundred divided by Z equalsten = 100x%Z =10
16) E plusfour equalsten 6. E+4=10
17) eight minus Jequalsfive - 8-J=5
18) D timesten equals one hundred s Dx10=100
19) R divided by ten equals ten 1. Rx10=10
20) The product of H and two is four 20, Hx2=4
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) seven minus M equalstwo
1
2) fivetimesY equalsforty-five
2.
3) Pdivided by ten equals ten
3.
4) Thesum of U and seven istwelve
4,
5) eight minus D equalsfive
5.
6) T timesfive equalsfifty
6.
7) one hundred divided by W equalsten
7.
8) nineplusN equalstwelve .
9) The difference between five and A is one .
10) C times nine equals thirty-six 0
11) onehundred divided by H equalsten "
12) Thesum of G and four issix b
13) The difference between seventeen and F isten -
14) The product of B and ten is sixty y
15) one hundred divided by R equalsten s
16) The sum of seven and A is seventeen "
17) nine minus E equals seven .
18) The product of four and B is twenty-four "
19) one hundred divided by K equalsten "
20) one hundred divided by Jequalsten 2
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) seven minus M equalstwo
1 7-M=2
2) fivetimesY equalsforty-five
2 5xY =45
3) Pdivided by ten equals ten
3 Px10=10
4) Thesum of U and seven istwelve
4 U+7=12
5) eight minus D equalsfive
5. 8-D=5
6) T timesfive equalsfift
eq y 6. Tx5=50
7) one hundred divided by W equalsten
7z 100 xW =10
8) nineplusN equals twelve
plusN eq 8 9+N=12
9) The difference between five and A is one
0 5-A=1
10) C times nine equals thirty-six
. Y 0. Cx9=36
11) one hundred divided by H equals ten
y e u  100xH =10
12) Thesum of G and four issix
12. G+4=6
13) The difference between seventeen and Fisten
) n  17-F=10
14) The product of B and ten is sixt
) p y 14. Bx10=60
15) one hundred divided by R equalsten
) y Req 5. 100xR =10
16) The sum of seven and A is seventeen
) 6 TH+A=17
17) nine minus E equals seven
) & 17. 9-E=7
18) The product of four and B is twenty-four N AxB =24
19) one hundred divided by K equalsten o 100x K =10
20) one hundred divided by Jequalsten 20 100 x J = 10
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) P minusfive equals seven
1
2) Etimessix equals thirty-six
2.
3) one hundred divided by N equalsten
3.
4) F plusfive equals nine
4,
5) C minusten equals nine
5.
6) The product of A and nineisthirty-six
6.
7) one hundred divided by B equals ten
7.
8) ten plus D equalstwenty .
9) tenminusT equalsthree .
10) The product of M and eight is eight 0
11) onehundred divided by Z equalsten "
12) seven plus H equals fourteen b
13) The difference between five and A isfour -
14) Jtimes seven equals twenty-one y
15) U divided by ten equalsten 5
16) Thesum of R and eight is sixteen 6
17) fifteen minus B equals six .
18) The product of five and W isthirty "
19) K divided by ten equalsten 1
20) Y timesten equalsforty 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) P minusfive equals seven
1 P-5=7
2) Etimessix equals thirty-six
2 Ex6=36
3) one hundred divided by N equalsten
3 100 x N =10
4) F plusfive equals nine
4 F+5=9
5) C minusten equals nine
5. C-10=9
6) The product of A and nineis thirty-six
P 4 & Ax9=36
7) one hundred divided by B equals ten
7 100 x B =10
8) ten plus D equals twent
s Y s 10+D=20
9) tenminus T equalsthree
= o 10-T=3
10) The product of M and eight is eight
p 9 9 10. Mx8=8
11) one hundred divided by Z equals ten
i u  100xZ =10
12) seven plus H equals fourteen
) svenplusH eq »  T+H=14
13) Thedifference between five and A isfour
) 13. 5-A=14
14) Jtimes seven equals twenty-one
) eq y w  JIx7=21
15) U divided by ten equas ten
) y ten eq 5. Ux10=10
16) Thesum of R and eight is sixteen
) ¢ 16. R+8=16
17) fifteen minus B equals six
) eq 17. 15-B=6
18) The product of five and W is thirt
) produ iv isthirty . 5x W =30
19) K divided by ten equalsten » K x 10 = 10
20 '
) Y timesten equals forty " Y x 10 = 40
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) eight minusF equalstwo
1
2) four times B equals sixteen
2.
3) one hundred divided by M equalsten
3.
4) Thesum of A and seven istwelve
4,
5) The difference between fourteen and Y is six
5.
6) The product of one and Cissix
6.
7) T divided by ten equalsten
7.
8) The sum of seven and R isnine .
9) The difference between fourteen and H isten .
10) two times J equals sixteen
10.
11) G divided by ten equalsten u
12) Z plus seven equals seventeen b
13) twelve minus K equals four 0
14) W times two equals two y
15) one hundred divided by P equalsten s
16) three plus A equals twelve 6
17) B minus nine equals eight .
18) eight times D equals seventy-two "
19) one hundred divided by N equalsten "
20) seventimes U equals seventy 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) eight minus F equalstwo
L 8-F=2
2) four times B equals sixteen
2 4xB=16
3) one hundred divided by M equalsten
3 100xM =10
4) Thesum of A and seven istwelve
4 A+7=12
5) The difference between fourteen and Y is six
5. 14-Y =6
6) The product of one and C issix
P 6 1xC=6
7) T divided by ten equalsten
7 Tx10=10
8) The sum of seven and R isnine
8. 7+R=9
9) The difference between fourteen and H is ten
oo 14-H=10
10) two times Jequals sixteen
< 10. 2xJ=16
11) G divided by ten equalsten
y e nw Gx10=10
12) Z plus seven equals seventeen
) Zp eq 12 Z+7=17
13) twelveminusK equals four
) e s 12-K=4
14) W timestwo equalstwo
) eq 14, Wx2=2
15) one hundred divided by P equals ten
) y Peg 5. 100x P =10
16) three plus A equalstwelve
) p eq 1. 3+A=12
17) B minus nine equals eight
) eq g 17 B-9=8
18) eight ti D equal ty-tw
) eight times D equals seventy-two . 8xD =72
19) one hundred divided by N equalsten . 100 % N = 10
20) seventimes U equals seventy 0 7x U =70
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Rewriting Equations Name:
Rewrite each number sentence using numerals and symbols. Answers
1) N minussix equals seven
1
2) The product of six and D istwelve
2.
3) one hundred divided by A equalsten
3.
4) F plussix equas fourteen
4,
5) The difference between fourteen and T is four
5.
6) tentimes P equalsthirty
6.
7) Y divided by ten equalsten
7.
8) Thesum of R and nineisthirteen .
9) G minus one equals seven .
10) seventimes U equals sixty-three 0
11) one hundred divided by E equalsten "
12) The sum of oneand C isfour b
13) eleven minus W equals four 0
14) six times Z equals forty-eight y
15) one hundred divided by H equalsten s
16) seven plus B equalsten "
17) The difference between eight and K istwo .
18) The product of ten and Jis sixty "
19) one hundred divided by M equals ten "
20) eleven minus B equals six 20
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Rewriting Equations Name. Answer Key
Rewrite each number sentence using numerals and symbols. Answers
1) N minussix equals seven
1 N-6=7
2) The product of six and D istwelve
2 6xD=12
3) one hundred divided by A equalsten
3 100 x A =10
4) Fplussix equals fourteen
4 F+6=14
5) The difference between fourteen and T is four
s 14-T=4
6) tentimesP equals thirt
= y . 10xP=30
7) Y divided by ten equals ten
YN ;. Yx10=10
8) Thesum of R and nineis thirteen
8. R+9=13
9) G minusone equals seven
& o G-1=7
10) seventimes U equals sixty-three
eq y 0. [xU=63
11) one hundred divided by E equals ten
yEA w 100xE =10
12) The sum of oneand Cisfour
) 12. 1+C=4
13) eleven minus W equals four
) & e 11-W=4
14) six times Z equals forty-eight
) eq y-eig 14. 6xZ =48
15) one hundred divided by H equals ten
) y Heq 5. 100xH =10
16) seven plus B equalsten
) p €q 16. 7+B= 10
17) The difference between eight and K istwo _
17. 8 = K - 2
18) The product of ten and Jis sixt
) The produ is sixty .. 10xJ=60
19 hundred divided by M ast
) one hundred divi y M equals ten .. 100x M =10
20 i i
) eleven minus B equals six 0 11-B=6
1-10 [95[90(85|80| 75| 70| 65 60 | 55 | 50
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